e 3‘ TPL SWIVEL-MOUNT-T
* VISION USER GUIDE

N
<« .
~  Active LED solutions

PREAMBLE

This Technical User Guide contains warnings and guidance for correct and safe operation of the product.
These instructions must be followed at all times. TPL Vision will not be held responsible for problems caused
by using the product contrary to these instructions and the Warranty will be deemed invalid.

Il UNPACKING

This product is packed at the factory using suitable materials for safe transport. To open the package, do not use
any cutting blade to avoid damaging the product(s). Please use the delivered accessories if needed. (Do not use any
other products or equivalents to replace the delivered accessories).

In the event of damage occurring during shipping, it must be reported to the carrier at time of delivery (including
noting the damage in writing on the delivery documents). It is also your responsibility to notify TPL Vision in writing
of the damage within 24 hours of receipt of the package. If these instructions are not followed, TPL Vision reserves
the right not to accept requests for return and exchange of damaged products.

I PARTS PROVIDED

e 2x screws FHC Mb5x14 ﬁ

* Mounting base (1)
o 2x screws CHC M4x8 ﬁ

e 2x screws FHC M6x8 ?

e 1x tight tolerance pin 3x8 |

* Mounting top (2)

* 1x threaded pin M3x4 Jf



SWIVEL-MOUNT-T

USER GUIDE

Il MOUNTING BASE INTERNAL LAYOUT

The base of the SWIVEL-MOUNT-T is equipped with a disk to permit rotation to the desired angle.

Mounting base (1)

== g

Il ASSEMBLING THE MOUNTING BASE

1x screw
FHC M6éx8

Il ASSEMBLING THE MOUNT TO A HOLDING SUPPORT

2x vis
ﬁ FHC M5x14 The SWIVEL-MOUNT-T is provided with
— two M5x14 countersunk screws, which
can be fastened to a custom support
[ 'ﬂ with the use of two nuts (support and
" r\ nuts non provided).

| lt@ﬁ




Il ASSEMBLING THE MOUNT TO AN EBAR

SWIVEL-MOUNT-T can be fastened to an EBAR or M-TBAR product with the 2x M4x8 socket screws provided.
These should be screwed in the M4 captive nuts provided with the EBAR or the M4 T-nuts provided with the M-TBAR.
The following guidelines are shown with the EBAR product, the same guidance applies for the M-TBAR.

2X SCrews
CHC M4x8

/AH
Mounting top @) T T ‘j

[

—

Before tightening the screws, the mount can be slid to the desired position:

L — — —
I ASSEMBLING (D) AND @
Ve Mounting top (2) Mounting top (2)
(| ] f
o o o
1x screw
[G FHC M6x8 c o O
w_ °c.° °
I 1 []

Mounting base (1) ) Mounting base (1) )




SWIVEL-MOUNT-T
USER GUIDE "

Rotate part (2) to the desired ® A is suitable for the use of
angle and with the use of the threaded pin M3x4.

a ball-peen hammer mark e b is suitable for the use of
the position of either @ or b. the tight tolerance pin 3x8.

S TPL VISION
‘00 ® Brenchley House, School Road
o> TPL chley House,
&0, VISION | Charing, Kent TN27 03w I 1S09001
> Active LED solutions United Kingdom

CERTIFIED MANUFACTURER

+44 (0)1738 310 392 | contact@tplvision.co.uk www.tpl-vision.com



